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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR Sheet. As the answer sheets are designed to suit the
Optical Mark Reader (O.M.R.) system, special care should be taken to fill those
items accurately.

4. This Question Booklet contains 85 questions, Part - A contains 40 questions of
one mark each. Part - B contains 15 questions of two marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR Sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle 1s shaded/wrongly
shaded/half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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gror! — &/PART - A

DR [F et e300, =S B3 B0t ©03. 40x1=40
Answer all questions. Each question carries 1 mark,

1. 7802335 esp @e&ﬁ”dé 20BID ;

(a) & =0x° Shodes (b) eexdese
(c) wWodem® (d) BeemoQB=e
“Origin of Species™ written by
(a) O Parin Mendel (b) Lamark
(c) Darwin (d) Copernicus
2. ZOabem JR@0nve MeEhasa), es) 2E¥TTT.
(a) o6 (b)  oe35%e3gecss
(c) =Dor@TBee3v® - (d)  =mee3oes
Graphite is used in muclear plant as :
(a) a fuel (b) an electrode
(c) moderator (d) coolant
3. gosdead FTais30d VBB,
(a) 2303 1 b) 33
(c) &reF3 (d) eoss abed@e e
Father of Indian Surgery is :
(a) Charaka (b) Sushrutha
(c) Bhaskara (d) None of the above

4. Rpobear BETBeDHS Kz

(a) oris (b) alesw (c) e30g (d) engd
The nearest Planet to sun is :
(a) Mars (b) Earth (c) Moon (d) Mercury

S. e doadeead §od 20833
(a) TR v 2,0t exgze He3) 069 erITaN vesbahh
(b) 2 eogdeso Sla-for! $23) BHJer ey Mooeeas3owos c’irag L9eVNIE) RBDB
(c) (a) @) (b) 20@R
(d) odexdEe we
Nuclear fusion means :

(a) splitting of large atom into one or more smaller ones
(b) fusion of 2 or more lighter atoms into larger ones

(c) Dboth (a) and (b)

(d) none

B | P.T.O.
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6.

WOBTWOL JOBTEY TOBJTE BROTLV MOBTONOTITY, Te YOI 0ITJHTE
eledTlesorh3T ?

(a) OO RE® es3eeIFO° eloer®e

(b) owveRer® BT

(c) ROEITIREF INET® BfYesdwo°

(d) oddwe g

To join the internet, the computer has to be connected to a :
(a) internet architecture board

(b) internet society

(c) internet service provider

(d) none

B9ARrIYe alres JoBRAL FE0br, DV IDeSOTTHBOY ?

(a) &°C (b) TL@ew

(c) eo &czb?segg (d) =333

Which of the below is the non-renewable energy resource ?
(a) Solar (b) Coal

(c) Hydro-electricity (d) Wind Power

F8eass BBFIPY eaod By FBVFT eHewys FToTO @o0dV FoHHIOVT HPYY
00D :

(a) SOIT >TeToTEI (b) 8T FoIom

(c) edweeri 20T3eI0e3ES (d) obexdhde v

The observed increase in the average temperature of the air near earths
surface and oceans in recent decades :

(a) Environment Change (b) Global Warming
(c) Health Change (d) None

m?gﬁjae—ejm&em D02 ﬁda’m& 023033 :

(a) Oesz®e Pao (b) Oe3wce TRPEID®

(c) ceedade e3drbes (d) &beess odredse &g
coined the term Nano-technology.

(él) Richard Feynman (b) Richard Watson

(c) Norio Taniguchi (d) None of the above
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10.

11,

12.

14.

©03TeE0E JoTTE BRODT T resodoZ) <, BROBTIeBD.

(a) IBM PC odba, (b) odoRese IP QEopE)Y

(c) eooIvt=oed Soa%-wesess,sobd) (d) RRBIEI mocgés‘aida
Each Computer connected to the Internet must
(a) be an IBM PC (b) have a unique IP address
(c) be internet eompatible (d) have a modem connection

ja) AeeBobo eFiae ZeuYdoh0o By eehE OBE™, BRODT
b) Seleesabo WFTTIY, ST BROOT

(c) By eseyial), &R BRODT

(d) odbed)Te 8L

Soaps are
(a) sodium or potassmm salts of fatty acids
(b) contains petroleum products only

(c) they contains fatty acids only

(d) none

S Bgodh, wpEs SRy P08 ks Do SRBON TRRBET 7

(a) rhaoos® (b) eoxrmes

(c) daaaoa‘g (d) IBOTD

Which State in India ranks first in the installation of Wind Power ?
(a) Gujarat (b) Andhra Pradesh

(c) Maharashtra (d) Tamil Nadu

QY odPRIT T FOBIBY ?

(a) Poees (b) &ee®

(c) ehgvee® (d) seesr e3P
Which of this is not a Bio-fuel ?

(a) Ethanol (b) Diesel

(c) Methanol (d) All the above
Fegee odr :

(a) 4000 - 3000 BCE (b) 3000 - 1000 BCE
(c) 1000,to Present (d) odemdEe @Y

The Iron Age :

(a) 4000 - 3000 BCE (b) 3000 - 1000 BCE
(c) 1000 to Present (d) None

GN-540
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15.

16.

17,

18.

19.

£790°23Q%5° NBIEL /TMLL 03

(a) Fuded

(b) I, Beedrivy 63e8 BoBwobriE, BROODIT

(c) Boowe3 Horie dee3 ABReFT &ITNY suTIBI0DY ETIDIT
(d) (b) &) (o) P0B®

Transgenic plants are :

(a) mnative

(b) contain foreign genes in their cells

(c) are used to produce disease and pest resistance crops
(d) both (b) and (c)

DezRod BOeFeod HFadHadw BOBMERY, ETRORT.

(a) 6 DOINLL (b) 9 oI (c) 8 oI (d)
The process of hypothesis testing has :

(a) 6 steps (b) 9 steps (c) 8 steps (d)

BYTORE HTOEDS.

(a) sdordesrs (b) edee3n®
(c) sgriee & 30 ® (d) wedE®
is regarded as father of Genetics.
(a) Mendel (b) Bateson
(c) Hugo de beris (d) Darwin
C.V. 00c)a®3e3dd Fe30e Jseeder® HBYoR, DBED.
(a) aﬂadaag (b) dmoﬁaaﬂmg (c) ﬁﬁémg (d)
C.V. Raman won Nobel Prize for ;
(a) Physics (b) Chemistry (c) Botony (d)

(a) ggdOM® £330 e BBE D
(b) @ETOQVE® FPeTe TVRT BBED
(c cnej’ﬁggas T ,BTES

(d) (a) BB (b) DTBR

The microscopes which help to observe nano-materials are

S

L

7 30308

7 steps

DYDY

(b2l

Zoology

Voslee-BRINER), HedTen BHood eme TUeFLBESIED.

(a) scanning tunneling microscope
(b) atomic force microscope

(c) electron microscope
(d) both (a) and (b)
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20.

- i

23.

24.

NDDB o3, HT0& :

(a) SyESeO® &b dadomaboes® e3ewee
(b) g O B0 3erst

(c) mogRDe® e BDOT00e3° lrerse
(d) odedHEe 8L

Expand NDDB :

(a) National Dairy Development Board
(b) New Dairy Dewvelopment Board

(c) National Daily Development Board
(d) None

308 HOWT :

(a) ¥oBey (b)

(c) ese3risd = (d)

Yukti means : E

a) Skill 2 (b)
G (d)

20 Suede 3e3RT00

(b)
(d)

a1 (b)

(a) ayaan

(c) Chandrayaam - I (d)
WOBU%IL) TOBEE &Y 520D ATE HTYTD
(a) ‘@Si‘?&ﬁ Bore (b)
(c) (a) DR (b) 0B (d)
Internet works on :

(a) Packet Switching (b)
(c) Both (a) and (b) (d)

INSAT
FBE.&JBEE"N‘D?SEJG -3

INSAT
Cartosat - 3

ﬁi‘i@g&”ws rga?:orﬁ
e’ &es°

Circuit Switching
Main Switch

ULV e0w odjea TR S3¥iEh BAD FY08oh BEBH0ITNE ?

(a) gedees D) w8 (b)
(c) rimed W) s (d)

1eed 3 ai)émeé
(e O30 ooh

GN-540

D0R) PVBBHR, YVBEOTES

® ceneration Satellite launched by ISRO in Nov. 2019.

Genetic improvements in which two crops form the basis of the Green

Revolution ?
(a) Corn and Rice (b)
(c) Wheat and Rice (d)

Wheat and Corn
Wheat and Ragi

P.T.O.
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25.

26.

27.

28.

29.

@SR 0FEW rhoamriERh, FoR&ABBD adred ?

(a) elesd® DL ° (b) eeSreB0BO® Favor®
(c) eggow® Hesoe | (d) e°FHere

Who discovered Human Blood groups ?

(a) James Watson (b) Alexander Fleming
(c) Land Steiner (d) Einstein

Pez0uT dexmgBodbr), BIeBs Breda TF.

(a) OB®e30° (b) Boee®

(c) Soee3p® (d) medatrre
Magnitude scale for earthquake is s

(a) Richter (b) Cornell

(c) Meitner (d) Heisenberg

L

20e33 1968 Oy "BeB 908" woa) BearFod 002303, 9@ EedEH 0dredh ?

(a) DTS, M0 (b) &zoxTer0er® JBD

(c) QOoBTe MOH (d) ©0.0%°. TRELTFD®
Who released a special stamp fitted “White Revolution” in July 1968 ?
(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) Indira Gandhi (d) M.S. Swaminathan
DNA &=, &30 :

(a) Besgedelee Sggd 5 esed) (b) &-Tjelree SRgdE® esed)
(c) Qesde d@?&éﬁs e9e3) (d) obezh@e we

Expand DNA :

(a) Deoxyribo nucleic acid (b) De-ribo nucleic acid
(c) Deoxy nucleic acid (d) none

JREL ol ewddwer 6&)?5 abaesai?gdda& BVOEDTTORIIE ?

(a) @Delsgees (b) &exex®

(¢) 3Begden (d) O e
Which of the following causes least Pollution when burnt ?
(a) Petrol (b) Diesel

(c) Coal (d) Natural gas
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30. 33 Sanedhs a0ue 2,030 Seedu0oB3

(a) 3B (b) sxwabo (c) Dhfeacdo (d) B8
The only metal in liquid state is ;
(a) Iron fb) Calcium (c) Magnesium  (d) Mercury

31. 198033 SReBes PROSEL 30370003 HUBOETD HOBIE BROT GLEIRFOITT edeBL
2203e0d evarjd .

(a) wsobezis D) 2O (c) eg@me® (d) Breesed
The first Indian Sagellite launched through Indian made launch vehicle in
the year 1980 is : |
"~ fa) Aryabhata Bhaskara (c) Apple (d) Rohini
_ 9530605 (c) 27903 (d) ege3m®
@ance 1s
America (c) India (d) Britain
20338 [RADER IFT0 350 @roTroe TWArdR)RD.

(c) #3¢ sd0ds (d) =03ee-@eer B8
Photovoltaic energy &8 the conversion of sunlight into
(a) Chemical energ (b) Electricity

(c) Biogas energy (d) Geothermal energy

34. @303 BOrwzhzed Eb= TOIT3 TFI0ohR), BROOT YT ee :

(a) .0F5.0e%". {b) ©%.2.8. (c) oo8%.3.8. (d) oedt.&.e.
The most energy efficient and environment safe source of light is :
(a) CFL (b) LCD (c) LED (d) LPG

35. 3Irive odredhcd @ﬁ’aéﬁaaﬁ A BBerered FOFITBY ?

(a) odwededado - 238 (b) @eedodo - 233

(c) @Rleedado -239 (d) odexdEe g

Which of the following is not a naturally occurring nuclear fuel ?
(a) Uranium - 238 (b) Thorium - 233

(c) Plutonium - 239 (d) None

B P.T.O.
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36. “Qoases DY JB” 0w BewdSgy :
(a) SyTe® Cipldele (b) eJomswas PYGOZN®

(c) tlesesniee (d) Bremoedsms

said there is “electricity in lightning”.
(a) Micheal Faraday (b) Benjamin Franklien
(c) Galileo (d) Copernicus

37. Twodbedeons d?sdéoi)m&&e@tﬁdd) :
(a)  Breor® Boemosors (b)  lesesnie

(c) So0e° (d) DReHene
Heliocentric System given by :
(a) Nicholas Copernicus (b) Galileo
(c) Oldham | (d) Einstein
38. Somh &00e30: 3 eEe9er® BOmToemy VTFT B0IDB) / BrBosrDy,
(a) 26 DH® 1986 (b) 268 Sreesse 1986
(c) 26 aapne 1987 (d) 268 &0e%; 1987
Chernobyl Nuclear accident occurred in early morning of :
~(a) 26t April 1986 (b)  26%™ March 1986
(c) 26% June 1987 (d) 26™ July 1987

39. 333 xe0 ﬁogj&:iabd 3T3ID ¢

(a) esodesies (b)  DwoDed esesoodre
(c) &3 (d) Qeerzo3

Ganita Sara Sangraha is written by :

(a) Aryabhata | (b) Mahavira Acharya
(c) Bhaskara (d) Nilakanta

40. T8 oz BRIRT Rosee) :
(a) o3eloeB oede (b)  BIveschaEF RrecTocse

(c) Potedoedoedcs (d) oeess VST

The a;tibiotic Penicillin obtained from ;

(a) Staphylococcus (b)  Penicillium notatum
(c) Streptococcus (d) All the above
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41.

42.

grorl - @9/PART - B

e BB evI30D. T8 BB 0B WoBIL.

Answer all questions. Each question carries 2 marks.

JRNTY 0P Fexde BoBRTLY FOBDRIS ?

(a) X Jeee30o2 (b) Y Seoe3oBd
(c) 2 X JeeeBo2 (d) obedEse e
Which one is found only in males ?
(a) X chromosome (b) Y chromosome
(c) 2 X chromosome (d) None
TOoiRa ZLelaleh. rHHs
Sondrisd so0earish
(A) oasb Be3 g0 (1) Rrgdredpesss
(B) wodbdweri (2) ®Des*.20..
(C) owe (3) daéiimeeaa?ggeaobo

(D) 2g380e3a sudaiie3 (4) eerrelesdery ehd
(@) (A)-(4), (B)-3), (C)-(2), (D)-(1)

(b)  (A)-(3), (B)-(2), (C)-(4), (D)-(1)

(c) (A)-(2), (B)-(4), (C)-(1), (D)-(3)

(d) (A)-(1), B)-(3), (C)-(4), (D)-(2)

Match the correct pair :

Disease Causes
(A) Typhoid (1) Pneumococcus
(B) Tuberculosis (2) HIV
(C) AIDS (3) Mycobacterium
(D) Pneumonia (4) Salmonella typhi

(@) (A)-(4), (B)-(3), (C)-(2), (D)-(1)
(b)  (A)-(3), (B)-(2), (C)-(4), (D)-(1)
(c)  (A)-(2), (B)-(4), (C)-(1), (D)-(3)
(d)  (A)-(1), (B)-(3), (C)-(4), (D)-(2)

GN-540

15x%2=30

P.T.O.
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44,

45.

46.

L

43. To22RT HVTYIBI0DY EFAITL 0dieesd ToToLITHOT RN eVOLIIMDD mqﬁ?g@';’

BHes9N JTOIH ?

(a) eIPPoereelym® (b) PEG-6A sworine fee®dodho PCA
(c) SBresdoorizzoe® (d) e oeEdp

The chemical used in manufacturing soaps which has high risk of causing
Cancer in :

(a) Trethanolamine (b) PEG-6A and Sodium PCA

(c) Propyieneglycol (d) All the above

E=mc? 00205 Ry, dBRSTeD JAT BT,

(a) e3gm ei)c:b?gaﬁ Gile}3onTne) (b) O8TCeded3

(c) ePRaDR® esOD (d) oBes3 &;mgoé

E=mc? is an equation to prove .

(a) Photoelectric effect (b) Radioactivity

(c) Brownian motion (d) Theory of relativity

HTML 0833 :

(a) FByP0%€ITS  eesH® QLI (b) moebedeer® @rowe & IEIE®

(c) oertadee® eoze e eyooriades (d)
HTML stands for :

(a) Hypertext Makeup Limited (b)
(c) Hotmail Markup Language (d)

LASER &), Bt Fezrivey axdoded :

ééﬁoeejggm SIOFET® e03eszs

Hotmail Markup Limited
Hypertext Markup Language

(c) R0BReRI Torie e3e0s 388 Be (e3¢63)

(d) eesd QP

LASER is used in these areas :

(a) Medicine and Industry

(b) Military and Law

(c) Research and Laser Light Show
(d) All the above
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47.

49,

- 50.

PSLV 033 :

(a)  @Deod vz TPOBOM® oz
(b)  BDead evsBHs evmoses wom
(c) Weod svuH=E ednew® moms

(d) THDeod Jewe svmozier oR
PSLV means : ‘

(a) Polar Satellite Landing Vehicle
(b) Polar Satellite Launch Vehicle

(c) Polar Satellite Load Vehicle
{d) Polar Service Launch Vehijcle

2% F3080h Jababoes D0 e gogodw D02 OJFAD,
FOBHBODID.

(a) H3Booerm® - og (b) rhaoess - o%

(c) TBoeRm® - o0 (d) &z - o¥

During White Revolution the Research institute of developed a
vaccine called :

() Hyderabad - Raksha (b) Gujarat - Raksha

(c) Hyderabad - Vaccine (d) Cow - Raksha

So8ET Morideddod DT - eReSr3 RREVAE JeBTBD

(a) Bex® (b) QBreead®

(c) (a) I (b) 28@ER . (d) odexawe €9
Redlscovery of rational civilization exemplified by

(a) Greece (b) Rome

(c) Both (a) and (b) (d) None

DNA od daﬁm”cﬁom& 0g9 O3 Seden 9FcIT3.
(a) 1953 dey edesdr® &390eI5 e (b) 1953 Ge ©900%8° Hexo®
(c) 1953 dey weea® (d) 1935 3e DQOT®

The first structure of DNA was determined in by
(a) 1953 by James Watson (b) 1953 by Land Steiner
(c) 1953, by Darwin (d) 1935 by Planck

P.T.O.
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51. aazg)d D02 BBT BAROR) D3 e

(a) eegEsr® WOTWT IR (b)  e79cesn® WORT s

(c) 6es® 0owd @d (d) eagesr® Slelnle! agﬁ

The word Science comes from meaning

(a) Latin meaning Language (b) Latin meaning Information
(c) Greek meaning Knowledge (d) Latin meaning Knowledge

o030 BPR BTeerew B8 Tgeda adieedTd ?

(a) BoBBOR® BedToced B &gaﬁd

(b) BoTIROT® &) B m@dd

(c) Byme BTeeeed B8 Ty

(d) Eﬁ)@ﬁs' e B Y0

Which is the first Nuclear Power Plant in India ?
(a) Kudankulam Nuclear Power Plant

(b) Tarapur Atomic Power Station
(

c) Kaiga Nuclear Power Plant

(d) Madras Atomic Power Station

20T ava?sa'bae lelnle mil ox.

(a) 107 °m (b) 97 10m (6] 16~m (d) 97 %m
One nano is equal to m.

@ 10°m (b 97 %m (&) 1019w (d) 97 °m
20T P Betsd BITeFTR BB B8030 3803700
doamemrbgd.

(a) DII 3dodw @da?gegéoimﬁ (b) TSI BE0dn TeREOHAT B0odTeN

(c) ByReos® Bgodw &d)gaggoimﬁ (d) DI Bgado FRes® Bgadied
Through wind mill motor generator is converted into

(a) wind energy to electricity (b) wind energy to chemical energy

(c) kinetic energy to electricity (d) wind energy to kinetic energy
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51.

52.

53.

54.

(a)

H RO
@a;%d D02 TRT BAROD) 033 e
(a) ©ogea® 90T TR (b) eegear® OBT8 BT0&HS

(c) £)es® ©oBs agpd (d)

The word Science cCOmes from

ejaqgasase 9033 esgﬁai

meaning

(a) Latin meaning Language (b)
(c) Greek meaning Knowledge (d)

270030 TP Boaoce BY T 0B ?

(a) BoBIBOOT® BTrece0 B mgaid
(b) ToTPTOT® EW 33 mgaﬁd
(c) By BTeToER B8 VYT

(d) SHTYIF vEad 33 asgaid

Latin meaning Information

Latin meaning Knowledge

Which is the first Nuclear Pdwer Plant in India ?

(a) Kudankulam Nuclear Power Plant

(b) Tarapur Atomic Power Station
(c) Kaiga Nuclear Power Plant
(

d) Madras Atomic Power Station

eln V) m?gabae elale! mr3 [D.
(a) 107°m ) 97 9m

One nano is equal to m.
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Through wind mill motor generator
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is converted into

wind energy to electricity (b)

(c) kinetic energy to electricity (d)

wind energy to chemical energy

wind energy to kinetic energy
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(A)-(2), (B)-(3), (C)-(4), (D)-(1)
(A)-(1), (B)-(3), (C)-(4), (D)-(2)
(A)-(4), (B)-(2), (C)-(1), (D)-(3)
(A)-(3), (B)-(1), (C)-(2), (D)-(4)

Match the correet pair :
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Indian Nuclear Programme
Green Rewolution
Indian Memsoon Model
White Rewalution
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